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One million Earths could fit inside The sun.

An asteroid adbout the size of a car enters Earth's atmosphere
roughly once a year - but it burns up before it reaches us.

The sunset on Mars appears blue.

There are more stars in The universe than
grains of sand on dll the beaches on Earth.

Because of lower gravity, a person who weighs 200 pounds
on Earth would only weigh 76 pounds on the surface of Mars.

You wouldn't be able To walk on Jupiter, Saturn, Uranus,
or Neptune because They have no solid surfacel



L_abel each planet.
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Trace along the dotted lines.
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Cut out The puzzles. Put it back together
by dluing it To a blank sheet of paper.




Add or subtracT.
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Color using The code below.

| = yellow
2 = blue
3 = black

4 = red




Cut out, Then match.




Color over the capital letters with blue.
Color over the lower case lefters with black. What does it say?

h

IIIEIIHHI!I
hlolifzlklnlz[rlklz
blzlzinhlblrlzlblhli
hirf{ifbfkli]bfh]i]r




How many are in each row?
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Memory Game (Cut out and match)




Thank you for downloading my free outer
space activity pack! Please sign up for my
emdil newsletTer To get access to more funl
www.slapdashmom.com

Space facts from NatGeo.
Amazing freebies would hot be possible without
these clip art creators. Huge shout out to:

www.DancingCrayon.com
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